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NEW QUESTION 1

The current directory contains the following file:

-rw-r—r— 1 root exec 24551 Apr 2 12:36 test.sh

The file contains a valid shell script, but executing this file using ./test.sh leads to this error: bash: ./test.sh: Permission denied
What should be done in order to successfully execute the script?

A. The file’s extension should be changed from .sh to .bin.

B. The execute bit should be set in the file’s permissions.

C. The user executing the script should be added to the exec group.
D. The SetUID bit should be set in the file's permissions

E. The script should be run using #!./tes

F. sh instead of ./test.sh.

Answer: B

NEW QUESTION 2
Which of the following examples shows the general structure of a for loop in a shell script?

A. for *.txt as file => echo $file

B. for *.txt ( echo $i)

C. for file in *.txt do echo $i done
D. for Is *.txt exec {} \;

E. foreach @({file} { echo $i }

Answer: C

NEW QUESTION 3
The ownership of the file doku.odt should be changed. The new owner is named tux. Which command accomplishes this change?

A. chmod u=tux doku.odt
B. newuser doku.odt tux
C. chown tux doku.odt
D. transfer tux: doku.odt
E. passwd doku.odt:tux

Answer: C

NEW QUESTION 4
Which of the following programs is a graphical editor for vector graphics?

A. Python
B. NGINX
C. Samba
D. Inkscape
E. MySQL

Answer: D

NEW QUESTION 5
Which of the following tar options handle compression? (Choose two correct answers.)

-bz

moow»
@

-22
Answer: BD
NEW QUESTION 6
Which of the following tasks can the command passwd accomplish? (Choose two.)
A. Change a user's username.
B. Change a user's password.
C. Create a new user account.
D. Create a new user group.
E. Lock a user account.
Answer: CE
NEW QUESTION 7

Which operator in a regular expression matches the preceding character either zero or one time?

A ?
B.*
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C.+
D. %
E.$

Answer: A

NEW QUESTION 8
A directory contains the following files:

a.txt

23 g 5

C.Ccav

What would be the output of the following shell script? for file in *.txt

do

[AE]
]
e
]
4
(1]
[
—
i

done

L *xt
ab

. c.cav
A.txt
txt

. txt

TMOO WY

Answer: E

NEW QUESTION 9
What information is stored in /etc/passwd? (Choose three correct answers.)

A. The user’s storage space limit
B. The numerical user ID

C. The username

D. The encrypted password

E. The user\s default shell

Answer: BCD

NEW QUESTION 10
Which of the following programs are web servers? (Choose two.)

A. Apache HTTPD
B. Postfix

C. Curl

D. Dovecot

E. NGINX

Answer: AE

NEW QUESTION 10
Which of the following commands can be used to resolve a DNS name to an IP address?

A. dnsname
B. dns

C. query

D. host

E. Iplookup

Answer: D

NEW QUESTION 11
Reverse DNS assigns hostnames to IP addresses. How is the name of the IP address 198.51.100.165 stored on a DNS server?

A. In the A record for 165.100.51.198.ipv4.arpA.

B. In the PTR record for 165.100.51.198.in-addr.arpA.
C. In the RNAME record for 198-51-100-165.rev.arpA.
D. In the ARPA record for 165.100.51.198.rev.

E. In the REV record for arpA.in-addr.198.51.100.165.

Answer: B
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NEW QUESTION 16
What is true about the owner of a file?

A. Each file is owned by exactly one user and one group.

B. The owner of a file always has full permissions when accessing the file.
C. The user owning a file must be a member of the file's group.

D. When a user is deleted, all files owned by the user disappear.

E. The owner of a file cannot be changed once it is assigned to an owner.

Answer: A

NEW QUESTION 17

Which of the following is a protocol used for automatic IP address configuration?
A.NFS

B. LDAP

C. SMTP

D. DNS

E. DHCP

Answer: E

NEW QUESTION 21

When typing a long command line at the shell, what single character can be used to split a command across multiple lines?

A. Mastered
B. Not Mastered

Answer: A

Explanation:
\

NEW QUESTION 26
Which of the following statements regarding Linux hardware drivers is correct?

A. Drivers are regular Linux programs which have to be run by the user who wants to use a device.

B. Drivers are not used by Linux because the BIOS handles all access to hardware on behalf of Linux.
C. Drivers are stored on their devices and are copied by the Linux kernel when a new device is attached
D. Drivers are downloaded from the vendor's driver repository when a new device is attached.

E. Drivers are either compiled into the Linux kernel or are loaded as kernel modules.

Answer: E

NEW QUESTION 30
Which of the following commands extracts the contents of the compressed archive filel.tar.gz?

A. tar -czf filel.tar.gz

B. ztar filel.tar.gz

C. tar -xzf filel.tar.gz

D. tar --extract filel.tar.gz
E. detar filel.tar.gz

Answer: C

NEW QUESTION 32
Which of the following types of bus can connect hard disk drives with the motherboard?

A. The RAM bus
B. The NUMA bus
C. The CPU bus
D. The SATA bus
E. The Auto bus

Answer: D

NEW QUESTION 34

What are the differences between hard disk drives and solid state disks? (Choose two correct answers.)
A. Hard disks have a motor and moving parts, solid state disks do not.

B. Hard disks can fail due to physical damage, while solid state disks cannot fail.

C. Solid state disks can store many times as much data as hard disk drives.

D. /dev/sda is a hard disk device while /dev/ssda is a solid state disk.

E. Solid state disks provide faster access to stored data than hard disks.

Answer: AE
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NEW QUESTION 37

A directory contains the following three files:

texts 1.txt

texts 2.txt

texts 3.csv

Which command copies the two files ending in .txt to the /tmp/ directory?

A. cp ??.txt /tmp/
B. cp *.txt /tmp/
C.c

D. \.txt /tmp/

E. cp ?.txt /tmp/
F. cp $2.txt /tmp/

Answer: B

NEW QUESTION 38

Most commands on Linux can display information on their usage. How can this information typically be displayed?
A. By running the command with the option /? or /??.

B. By running the command with the option ?! or ?=!.

C. By running the command with the option /doc or /documentation.

D. By running the command with the option -h or --help.

E. By running the command with the option -m or --manpage.

Answer: E

NEW QUESTION 41
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